= = g = A
X B =E B B X
g Bl T & E Al G | ]_O® ==Xy = " =
ERWE
BEERLT |fEHEIT PEHI T8 m?® 9.5
=t m?
BtT REREE T BAL m?® 53.5
BRIRE T m?
EEERT EEER YL+ EB m?
RIAMBET RiZE0y T m?® 61.9
=t m?
M BT (BT B BEL m®
WEEET  |MEExXIT PR1E m° 485
HER m?* 11.8
SATTHERET |/MEREHKBERE m 473
5 -J0vsHERT 1’!5%11 EHE m3 236
HER m?® 12.9
avyy—hJovs T NBEJAavoE 1:04,32 % 35cm, ZIv10cm | m?
2870y s 1:0.4,322 35cm, EE3I¥10cm | m?
3IBEJnvoiE 1:04,32 % 35cm, ZIv10cm | m?
4570y ks 1:0.5,322 35cm, EI15¢m | m?
5570v & 1:0.532 % 35cm, ZIv10cm | m? 4.7
6E5JOvoFE 1:044% % 35cm, EIv10cm | m? 6.4
EARR RC-40 m® 0.8
12X ar9—k m




R OET W

I 7& oAl oA BO® 4L = w &
2E XKL H—k m
3EXRIFaALY—k m 7.5
4EXEEIH)—k m 2.1
1570y BRER m 9.6
15/hO1k AT
25/ Ok 5L
35/hOLE AT
4501k R
55/hOLk AT
65/hO1k 5L 2

wokmEnT [{EELT R1E T m® 50.1
BR T m® 40.9
fliET Tl v XU AIEPUS-300A m
=R FS-300 m
RUFT7Ya—L  |B600-H400 m 12.1
TIILFR)yMAlE (200 x 200 m
200 x 300 m
TILF R MalE ERT
B B ECAE #it B FAB300-H300 m
it B FAB300~-H400 m
it B FAB300~-H500 m
#it B FAB800-H600 m
#it B FAB800-H700 m
T M7 FIB600-H1000 m 12.0
1% M7 FIB600-H1100 m 6.0
&L IFEE B200 m
o)) —rE FS300/ (5




I & # Al oAl BO® By | &1 2 &
ERT Ea—LE ¢ 400 m
EXE ¢ 400 m
BEE VU ¢ 150 m 46
VU ¢ 200 m
EkO T 1
Sk woh—ILT (15 &K bt B600-L600-H600 AT
25 & KkH B600-L600-H700 AT
KE=E- P/ Q0 B600-L600-H1100 AT
4B 5 kit B700-L700-H1000 AT
55 &KkH B700-L700-H1300 AT
65 Sk it B800-L800-H1000 Gl 1
TS &K B900-L900-H700 AT
85 &Kk ¥t B1300-L1300-H1600 AT
HET |[FRIZLLGEI (KB fﬁf*ﬁfg7x3’ m? 175.0
LERRE fi‘%fﬂgﬁa “M-30 m 175.0
BB 2 ,fi‘fr? 74=72°RC-40 | . 175.0
=y S
WALy [BEEMETAI |
=y S
BERE fﬁf*ﬂfg7x:/ m? 76
98 g e fg%f¥ﬁ¢ﬁ -M-30 2 6.8
=y S
FkLERE ([P a2
———— iﬁgnsz—iyﬂo—so ¥
=y S
SEERE ﬁiﬁ.*ﬂféﬁ?xﬂz 2
SRR AR E%ZZ‘M—%- RC-30 2
IO —k t=7cm m?
BEL |BEI SEEERIOVY m
17 i m




R OET W

= %I_L}
== I T

R

I & E Al WAl ]_O® =
REGRET BEREIVY)—b
R 1) —k t=Tcm
BREXET BrEx RIS —k
ML |F¥£1T PR T 6.4
BR T &b 29
BREIHEMT |[H—FL—JL Gr-C-4E
Gr-C-2B 8.1
BriEi T BAKLITVR H1800
BREEMEET |[1EH—FL—ILER
285 H—RL—ILERE 8.1
REST |[RE&T ERARER LR
" " aliaslenienti E48- £ -W=45cm
T E
F42- B -W=45cm
o oL S1 AR
NAVPARER  |2ge . @ w=150m 83.9
e -XF(EHMSETF
&Y W=15cmiaE
antEERT [EERMABRMI | TV=I—4 D1-EehiEiA 8.0
D3- [ FEMER T V.
z/—K—LEATI=T—4 |D4- L FHEEIA 20
MEER T 1SRERT ERr
25 R T &

IEMERT

B}
sﬂ_{




R OET W

I 7& oAl oA BO® 4L = w &
mamHsT |BEYEELT (A—FL—ILEE m 8.0
WHY-MEEWMEURL |V —~ &5 m? 8.0
AIEEIEL m® 2.3
SRR TR R m 194
S RREEL TRAI7ILEEEE t=3cm | m?
FARAI7 IV t=5om | m? 53.7
EHRAET RO L EE a9 )—b- B m? 80 | sx3® 188t
a% m? 23 | s=Eg 80t
T AI7ILE m?® 27 | =32 63t




El

I8 B y3 I - D ~ B = b5
EAIT
R T8 m° 9.5
Ec m® 0.0
BT
KRB L BAL m® 53.5
73N m® 0.0
FEERET
SEEER g1 m? 0.0
FTMET
k3 1s) T8 m° 61.9
Ec m® 0.0




+ T &% = &£ 5 X

Al Mmoo A R O® ERLTT PERET JOvOBI|HKEEMI| BHEMT ==X = =1
IEEIT RN ) 9.5 m® 9.5 9.5
xt 0.0 m® 0.0 0.0
E+T BT BAL 53.5 m® 53.5 53.5
BikEL 0.0 m® 0.0 0.0
E2+T K_iE T8 48.5 23.6 50. 1 6.4 m® 128.6 128.6
# R T8 11.8 12.9 40.9 2.9 m® 68.5 68.5
\ _ 3
7 4 qLIET T+ 24 T8 9.54+128. 6— (0. 0+68.5) x1/0.9 m 61.9
x+ m® 0.0




BT T B Al T & & &t &8 &

s mgEm | 8 E 1 Al (8 & E RIFIEHY W =
B B A 1.2 isR 4 A 1.2 \%

NO.13 +10.600 0.00 0.00 0.0 0.00 0.0 0.00

NO.14 9.40 9.40 1.0 0.49 4.6 9.40

NO.14 +10.000 10.00 10.00 0.0 0.49 4.9 10.00

NO.15 10.00 10.00 0.0 0.00 0.0 10.00

IKE.4-1

NO.15 +5.552 5.55 5.55 0.0 0.00 0.0 5.55

IKE.4-2

NO.15 +8.338 2.79 2.79 0.0 0.00 0.0 2.79

NO.15 +12.500 4.16 4.16 0.0 0.00 0.0 4.16

NO.16

NO.16 +10.000

NO.17

IEP

NO.17 +12.636

INET 95 0.0

&5t 9.5 0.0




EHERETT BT I # = it B &
B A mgEm | 8 E BERE L & IE BIKEL W=
BB B A 1.2 \Y/ BB B A 1.2 \Y,
PEEETSEE &L 53.5
INEE 53.5 0.0
&t 53.5 0.0




IERE T

I8 B y3 I - D ~ B = b5
EELT
R T m° 48.5
R T m° 11.8
BT HERE T
INBVE A R m 47.3




BE B T B%LT # E H FE £
B A wmpy | B L K iE & 2 R =
BB B A 1.2 \Y/ BB B A 1.2 \Y,
BEEETHEZE KL 485 11.8
INEE 48.5 11.8
&t 48.5 11.8




1 = =
INRYEE K BERE B E Gt E &
300
. N
1 o
8 B o
oS \
Q<
= \
o
5 LU LD
\ \ ERRE
| 650 |
850
£4521:0.5=1.118
£ 1 iR ¥ | B4 g = OmBYHE| E K| H =
a 41—k | ock=18N/mm2| m° (0.30+0.65) X 1/2 X 0.7 X 10.0 3.325 473 15.7
Bl m” (1+1.118) X 1.54 X 10.0 32.617 47.3 154.3
RC-40
HEBRA t=20cm m?’ 0.85 % 10.0 8.500 47.3 40.2
B #h#t t=10mm m? (0.30+0.65) X 1/2 X 0.7 0.330 473 1.6




£-JO0v9EGE) T £ 5t X

18 =] B - T & ==X i B = 1
EELXT
KB m’ 23.6
BR m’ 129
avy)—kJavs T
18J0voiE 1:0.4,#% % 35cm, E1Y10cm m”
2870y oiE 1:0.4,#% % 35cm, E1Y10cm m”
38 JnyyiE 1:0.4,#% % 350cm, E1Y10cm m”
4270y 1:0.5,#% % 35cm, E1v15cm m”
5570v5iE 1:0.5,#% % 35cm, E1Y10cm m” 4.7
65 70voiE 1:0.4,#% % 35cm, E1Y10cm m” 6.4
EARR RC-40 m’ 0.8
1SEXi{maAv9)—k m 0.0
25 XRiga> ) —bk m 0.0
IFXRiFaA ) —bk m 7.5
45 XRiKaA ') —k m 2.1
1570y EER m 9.6
15/h01k A
25/h0uk A
3Z/hOuk A
48/ Ok & AT
58/h0ik A
65/hOuE [E513is 2.0




A-7AvIfEER) T

)

25

it %

RARG | 15X | 25X | 35K | 45K | | owm
BB D TReoa0) | Ak | b | oy | oy | BB A =
157 RBHEHEE
25T IEREMEE
3BT IEEREREE
15T IIBEREEE
5EIMIENEREE 0.8 2.1 2.1
6B 7 BN EMEE 0.0 15 75
&5t 0.8 0.0 0.0 15 2.1 9.6




Tm =+ ¥ = =
F-J0v908GR)I EXT #H E it HE £
B oA g | B I R 1E & E B R =
BB B 1.2 \Y/ BB B 1.2 \
NO.13 +10.600 0.00 0.00 2.4 2.40 0.0 0.00 1.7 1.70 0.0
NO.14 9.40 9.40 9.40
NO.14 +5.60 0.00 0.00 2.2 1.2
NO.14 +10.000 10.00 4.40 2.2 2.20 9.7 4.40 1.2 1.20 5.3
NO.14 +16.30 6.30 2.2 2.20 13.9 6.30 1.2 1.20 7.6
NO.15 10.00 10.00 10.00
IKE.4-1
NO.15 +5.552 5.55 5.55 5.55
IKE.4-2
NO.15 +8.338 2.79 2.79 2.79
NO.15 +12.500 416 416 416
NO.16 7.50 7.50 7.50
NO.16 +10.000 10.00 10.00 10.00
NO.17 10.00 10.00 10.00
IEP
NO.17 +12.636 12.64 12.64 12.64
% ¥t 5 20
INET 23.6 12.9
=518 23.6 12.9




A-JOvEER T #% E i B & s
A & wmpEgy | 8 E 5570vo1& & IE EARR W =
iSRS SL 1.2 A BB Bt A 1.2 v
NO.14 _ +5.60 0.00 0.00 1.95 0.00 0.00
NO.14 _ +7.60 2.10 2.10 2.48 2.215 4.7 2.10 0.74 0.370 0.8
=118 4.7 0.8




A-JOV0EGR)IT #H = it B &
(2/2)

B & mgEm | 8 E 6EJAvITE & IE RIARR W=

BB B SL 1.2 A BB B A 1.2 \Y;
NO.14  +8.60 0.00 0.00 0.86 0.00 0.00
NO.14 +10.00 1.40 1.40 0.86 0.860 1.2 1.40 0.00 0.000 0.0
NO.14 +16.00 6.10 6.10 0.86 0.860 5.2 6.10 0.00 0.000 0.0
&5t 6.4 0.0




il

3B XKiga o )—k # it g &

| 445

—
e 3|
S
485
132 1:0.4=1.077
£ E b3} | B4 g =X TOmBYHE E K ([ H =
a ) —k | ock=18N/mm?| m® | 1/2 % (0.445+0.485) x 0.100 X 10.0 0.465

B B m” (0.100+0.100 x 1.077) X 10.0 2.077




= LU =2 =
45 XKigaA o) —k B E Gt E &

|

| I

! 1.1

| ‘ o —

£ 1:05=1.118

£ E b3} | B4 g =X TOmBYHE E K ([ H =
a ) —k | ock=18N/mm?| m® | 1/2x(0.799+0.849) x 0.100 X 10.0 0.824

B B m” (0.100+0.100 x 1.118) X 10.0 2.118




1570y OB ERE

S
il

Hom

o
g ®
(=]
/() :
EBPE
RC-40
£ E b3} | B4 g =X OmHBYH=| & #H =
av9)—bk | ock=18N/mm*| m® INEE IR RIE LY 1.140
U m? " 4.000
RC-40
EHRA t=20cm m? " 7.200




65/MO1E

o
()]
oo

ol

iOE

>
. i o -
- oo o -
i i
| |
| |
1 1
: nnn :
FAE 1:05=1.118
=& 1:04=1.077
£ E b3} | B4 g =X EFTLYSE £ K | # =
a ) —k | ock=18N/mm?| m® | 1/2x(0.858+0.998) x 1.400 X 0.30 0.390
1/2 x (0.858+0.998) X 1.400 X 2 +
B B m” 1.400 X (1.118+1.077) X 0.30 3.520




17 B B g - T & =-Rivi = i
EELT
FR1E h ) m’ 50.1
H#R h ) m’ 40.9
fiET
TL v XRUEEIE PU5-300A m 0.0
A2)a—L FS-300 m 0.0
REIDYa—L B600-H400 m 12.1
TIILFRYyMEE 200 x 200 m 0.0
200 x 300 m 0.0
< ILF Ry MAE 53 0.0
B A EAIE 46t it FRB300-H300 m 0.0
6t Bt FIB300-H400 m 0.0
6t Bt FIB300-H500 m 0.0
6t it FIB800-HB600 m 0.0
6t it FIB800-H700 m 0.0
T #7 FAB600-H1000 m 12.0
TE# T FAB600-H1100 m 6.0
ELIFEE B200 m
avy)—rE FS3008 5.
EET
Ea—L%E ¢ 400 m 0.0
BEXE ¢ 400 m 0.0
IBEE VU ¢ 150 m 4.6
VU ¢ 200 m 0.0
kO B 1.0




15 =] B g - T & =-£{v2 = 1
Ek#-<oR—ILT
15 & KHt B600-L600-H600 & T 0.0
25 Sk i B600-L600-H700 & T 0.0
3E E ki B600-L600-H1100 & 0.0
45 ki B700-L700-H1000 & 0.0
55 Sk i B700-L700-H1300 & 0.0
65 Skt B800-L800-H1000 [E3l3i8 1.0
TS5 Sk B900-L900-H700 & T 0.0
85 &kt B1300-L1300-H1600 [E3l3i8 0.0




BIKEBEYMT

FRIIHESRR

% FRCGE AD

RIB(m®)

BR(m®)

=H

L=k

A

L=k

S

ARYUEHEE

15.8

343

10.2

30.7

BET

EEE 0400
(NO.1+7.443k)

0.0

0.0

oKk vuk-LT

15 & K#H

25 K i

35K

455 KH

55 S K i

65 S /K i

0.0

0.0

15 £ K#

8= &k i

gt

15.8

34.3

10.2

30.7

AN E
[=N-]

50.1

40.9




sk * = =
HkEEY T BELXT #% E i B 2
A A B PR & IE PR 1 (Z A & I 182 R (EAD % =
s SO 1.2 \Y; i A 1.2 \Y;
NO.13 +10.600 0.00 0.0 0.3 0.30 0.0 0.0 0.2 0.20 0.0
NO.14 9.40 9.4 0.4 0.35 3.3 9.4 0.2 0.20 1.9
NO.14 +10.000 10.00 9.9 0.5 0.45 4.5 9.9 0.2 0.20 2.0
NO.15 10.00 9.7 0.3 0.40 3.9 9.7 0.3 0.25 2.4
IKE.4-1
NO.15 +5.552 5.55 5.3 0.3 0.30 1.6 5.3 0.3 0.30 1.6
IKE.4-2
NO.15 +8.338 2.79 2.7 0.3 0.30 0.8 2.7 0.3 0.30 0.8
3.1 0.3 0.30 0.9 3.1 0.3 0.30 0.9
NO.15 +12.500 4.16 0.9 0.9 0.90 0.8 0.9 0.7 0.70 0.6
NO.16
NO.16 +10.000
NO.17
IEP
NO.17 +12.636
INET 15.8 10.2
=511 15.8 10.2




sﬂ: sle = E
HkEEYT BEXT B = H E 2
B A mgEm | 8 E R 12 (EAD & IE 1# R(&EAD W =
BB B A 1.2 \Y/ BB B A 1.2 \Y,

NO.13 +16.000 0.00 0.0 1.9 0.0 1.7

NO.14 4.00 95 1.9 1.90 18.1 95 1.7 1.70 16.2
NO.14 +10.000| 10.00 85 1.9 1.90 16.2 85 1.7 1.70 145
NO.15 10.00 10.0 10.0
|kE.4-1

NO.15 +5.552 555 56 56
|ke.4-2

NO.15 +8.338 2.79 28 28

NO.15 +12.500 4.16 42 42

NO.16

NO.16 +10.000

NO.17
|ep

NO.17 +12.636

INEE 343 307
&5t 34.3 30.7




fET iE K A O£
= {8 A {8
v B E K @ = vl B E E
7L+ X FUEMEIE (PUS-300A)
A& 0.0 m i 0.0
ERE 0.0 m
£ 21) 12— L (FS-300)
&5t 0.0 m i 0.0
ERE 0.0 m
AR F 7 1) 2— L (B600-H400)
NO.14 +8.3 ~ NO.15 12.1
&5t 0.0 m i 12.1
ERE 12.1 m
< IJLF Ry ElE (200 x 200)
A& 0.0 m i 0.0
ERE 0.0 m
TILF Ry +EIE (200 x 300)
&5t 0.0 m i 0.0
ERE 0.0 m
TILFRY y HEERM
A&t 0.0 HAT HE 0.0 AT
ERE 0.0 HAT




BHEYEHE (K&

il

iom o®

f#tTA  B800-H600

EE (L) 0.00
{on" - ETE (A) 0.00
F#t=| 0.00 / 0.00 =[#DIV/0!
Ht#r Al B800-H700

EE (L) 0.00
{n" - EEE (A) 0.00

T t=| 0.00 / 0.00 =#DIV/0!
HE#TA B600-H1000

EE (L) 12.00
{on" -bETE (A) 1.06

F#t=(1.06 / 12.00 =/0.09 m
WA B600-H1100

ZEE (L) 6. 00
{n" - EEE (A) 0.72

THt= 0.72 /6.00=0.12m




B R HEE M E i B £
£ YR—kavsy—t
B & BB t F 14 A 1
TR B800-H600
NO. 15+18. 7 0.00 0.05
NO. 16 0.00 0.06 0. 055 0.00
NO. 16+10.0 0.00 0.08 0.070 0.00
NO. 17 0.00 0.09 0. 085 0.00
(N0.17E$2.636) 0.00 0.10 0.095 0.00
&Et 0.00 0.00
#EwrA  B800-H700
NO. 15+12. 7 0.00 0.07
NO. 15+18. 7 0.00 0.15 0.110 0.00
a&t 0.00 0.00
HEREA  B600-H1000
0.00 0.05
NO. 14 3.50 0.09 0.070 0.25
NO. 14+8. 3 8.50 0.10 0.095 0. 81
=111 12.00 1. 06
HBREA  B600-H1100
NO. 13+10.5 0.00 0.09
6. 00 0.15 0.120 0.72
a8t 6. 00 0.72




BET iE K B B
i {8 =] a1
i B E K | @& v B E K | @&
Ea—LE (¢400)
A& 0.0 m HE 0.0 m
ERE 0.0 m
EEE (¢400)
A&t 0.0 m HE 0.0 m
ERE 0.0 m
IBEEE (VUp 150)
NO. 14 +18. 2 {3k 4.6
A&t 0.0 m Hit 4.6 m
ERE 4.6 m
1B EE (VU 200)
A& 0.0 m HE 0.0 m
ERE 0.0 m
kA
NO. 14 +18. 2 fF3r 1.0
k5 0.0 AT HEt 1.0 E170)
ERE 1.0 &0




ANF 1) 21— .L(B600-H400)

w E

- Svv o
= ~
! |
! |
i I
| [
\ I r
11 [
= (I [
= [ [
=3 1 i
) [ [
[ [
& [ |
BN ' .
W L ] BrT 1. A N,
o \ _ PRIV iV
ST YV 7V V1 4.0
(=} rrir LY I.9o
— LAAS A AR
Lo !
b I
b con I
i i vuy o
P d
I —an
I /81

£ 1 iR ¥ | B4 g = 10mYYseE| IE #H =
ROFI)a—
N L2000 & 10.0/2.0 5.0
BEILRIL 1:3 m® 0.58 X 0.03 X 10.0 0.174
RC-40
HEBRA t=10cm m?’ 0.78 X 10.0 7.800




B B 4 & % (= B FAB600-H

bi

1000)

FL—Fus

w E

iOE

i, N
1 (4 N |
i !
i 1
1 i
i |
i
i
]
I £n
| SNLA A
~ 5o
™ - IR v
i = ] =
I 3
el
YAVA 7V =
P 1} [ 11 b
ANJ UA A —
AL TH 51 h2 t
860 560 izG
£ 1 i) ¥ | B4 g = 10mYYseE| IE #H =
T -
B R4 EMEIE [ B600-H1000 | & IMEEYIEERIRELY 5.0
B 41—k ock=18N/mm2| m® " 1.440
BRI m” " 3.000
RC-40
HEBRA t=15¢cm m?’ " 10.600
Ay =ravh)=t | o ck=18N/mm2| m* 0.60 X 0.09 X 10.0 0.540
JL—F0 & B600F 5.4 5.0




= =
B AR AEGEE AB600-H1100) # B & & &
bi
B .
|
|
|
Bz, h 1]
jv=zvi ]
|
N
]
{
[
B0
50
(VY :z
l‘\/’A‘\/“\ -
£ 1 iR ¥ | B4 g = 10mYYseE| IE #H =
Ly g
B R4 EMEIE [ B600-H1100 | & IMEEYIEERIRELY 5.0
B 41—k ock=18N/mm2| m® " 1.440
HEptRg m” " 3.000
RC-40
HEBRA t=15¢cm m?’ " 10.600
Ay =ravh)=t | o ck=18N/mm2| m* 0.60 X 0.12 X 10.0 0.720
SL—FL5E B600F ® 5.0




& H:I:I

I8 B y3 I - D ~ =R v2 = b5
FAI7ILREHET
BEZBRET7ROY
=E t=4cm m?’ 175.0
HIE R ERAR-M-30
LB t=10cm m?’ 175.0
BEIS5vPvy—F2-RC-40
INERS t=15cm m?’ 175.0
BEZBRET7ROY
EBA—/IN—LA EHEt=2cm m? 0.0
BEHMNET7AOY
AsZZEMIE ¥ Et=5cm m? 0.0
BEFBRET7ROY
BEXRRE t=4cm m? 7.6
FIE R ERR-M-30
RE iR s t=10cm m? 6.6
BEZBRET7ROY
it K AL IR K [ t=3cm m?
BEI5vPvy—F2-RC-30
it 7K A0 B R A t=10cm m?
BEFBRET7ROY
SERE t=3cm m? 0.0
BEI5vPvy—F2-RC-30
SERAE t=10cm m? 0.0
iR o1)—k t=7cm m? 0.0




SHET TFRI7ILMHEET # 2 H & £

Er & IE HEHE(RB) & IE =
BB B w 1.2 A BB B W 1.2 A

Al 5

7

NO.13 +10.600 0.00 0.0 2.16 2.160 0.0

NO.14 9.40 9.4 3.33 2.745 25.8

NO.14 +10.000 10.00 10.0 0.42 1.875 18.8

NO.15

|KE.4-1
NO.15 +5.552

|KE.4-2
NO.15 +8.338

NO.15 +12.500 4.16 4.1 0.75 0.750 3.1

NO.16

NO.16 +10.000

NO.17

|EP
NO.17 +12.636

HETIHEELY 127.3

/NEF 175.0

=k 175.0




WET T7AI7ILMEET # & 5t & 2

s mgEm | 8 E HEMHE (LERE) & 1 HEHE (TERE) W=
i w 1.2 A BB B w 1.2 A

NO.13 +10.600 0.00 0.0 2.16 2.160 0.0 0.0 2.16 2.160 0.0

NO.14 9.40 9.4 3.33 2.745 25.8 9.4 3.33 2.745 25.8

NO.14 +10.000 10.00 10.0 0.42 1.875 18.8 10.0 0.42 1.875 18.8

NO.15 10.00 10.0 10.0

IKE.4-1

NO.15 +5.552 5.55 5.4 5.4

IKE.4-2

NO.15 +8.338 2.79 2.7 2.7

NO.15 +12.500 416 4.1 0.75 0.750 3.1 4.1 0.75 0.750 3.1

NO.16

NO.16 +10.000

NO.17

IEP
NO.17 +12.636

SHETHEEL 127.3 127.3
INEE 175.0 175.0

&5t 175.0 175.0




|MET TJTARI7ILMHET # 2 51 & £
B & mgEm | 8 E BEHE(RE) & IE BRI AL (IR ER) W =
BB B W 1.2 A BB B W 1.2 A
NO.13 +10.600 0.00 0.00 0.00 0.000 0.0 0.00 0.00 0.000 0.0
NO.14 9.40 9.40 0.00 0.000 0.0 9.40 0.00 0.000 0.0
NO.14 +10.000] 10.00 10.00 0.75 0.375 3.8 10.00 0.65 0.325 3.3
NO.15 10.00 10.00 0.00 0.375 3.8 10.00 0.00 0.325 3.3
IKE .4-1
NO.15 +5.552 5.55 5.55 0.00 0.000 0.0 5.55 0.00 0.000 0.0
|kE.4-2
NO.15 +8.338 2.79 2.79 0.00 0.000 0.0 2.79 0.00 0.000 0.0
NO.15 +12.500 4.16 4.16 4.16
NO.16 7.50 7.50 7.50
NO.16 +10.000] 10.00 10.00 10.00
NO.17 10.00 10.00 10.00
|IEP
NO.17 +12.636] 12.64 12.64 12.64
INET 16 6.6
&5t 7.6 6.6




2

I8 B y3 I - D ~ =R v2 = b5
EELT
R T8 m° 6.4
R T8 m° 2.9
ERABIGHEEME T
HA—FL—JL Gr-C-4E m 0.0
Gr-C-2B m 8.1
FhiEi T
BAKLITIVR H1800 m 0.0
FhEEMRELFE T
15H—FL—)LER m 0.0
25 —FL—JLERE m 8.1




FhE&H T B%LT # E H FE £
B A wiprge | 18 IE R iE f& I e =
BB B 1.2 \Y/ BB B A 1.2 \Y,
NO.13 +10.600 0.00 0.00 0.5 0.50 0.0 0.00 0.2 0.20 0.0
NO.14 9.40 9.40 0.0 0.25 24 9.40 0.0 0.10 0.9
NO.14 +10.000] 10.00]| 10.00 0.4 0.20 20| 10.00 0.2 0.10 1.0
NO.15 10.00 |  10.00 0.0 0.20 20| 10.00 0.0 0.10 1.0
|kE.4-1
NO.15 +5.552 5.55 5.55 5.55
|kE.4-2
NO.15 +8.338 2.79 2.79 2.79
NO.15 +12.500 416 416 416
NO.16 7.50 7.50 7.50
NO.16 +10.000] 10.00]| 10.00 10.00
NO.17 10.00 |  10.00 10.00
lep
NO.17 +12.636] 12.64| 12.64 12.64
INEE 6.4 29
&5t 6.4 2.9




&R G EE MR T E £ A £
ik 181 A {8
fiL = E K | = L2 B E K | #5
#H— FL—JL (Gr-C-4E)
EEt 0.0 m HE 0.0 m
¥ =R 0.0 m
H— K L—JL (Gr-C-2B)
NO.14 +8.3 ~ NO.14 +16.3 8.1
k&t 0.0 m A&t 8.1 m
EAEt 8.1 m




BHIEART iE R A E
V3 {8 A {8y
fir B E E | # = iz B T R
BM< L7z X (H1800)
EEt 0.0 m AE 0.0 m

EhasE 0.0 m




PhEEMmERE T iE K A OE
i {a vl {al
v B E R (B ZE fiL B E R @
15A—FL—ILER
A&t 0.0 m HE 0.0 m
kA 0.0 m
25— FL—ILER
NO.14 +8.3 ~ NO.14 +16.3 8.1
i3 0.0 m Hit 8.1 m
kA 8.1 m




28 H—KFL— )L &1 #

felo

T

U=
T
/LJ
1UUY o
_ 400]
8
yd \4‘\ - v
HEILRIL Sl
i:3 N
— A% =
(L \ &)
\ \
\ \
\ Y
\ \
B iiuu \ _ \
= T = \
_ iiZU \ \
. . :
% 71 S - S - -X (74 g = 10mBYHE| T H =
N =NV EEE | H400,L2000 & 10.0/2.0 5.0
Ema41)—k| 0 ck=18N/mm2| m° 1.10X0.10 X 10.0 1.100
EHER m? 0.10x 10.0 1.000
BEILZIL 1:3 m® 1.00 X 0.02 X 10.0 0.200
RC-40
EBRRA t=10cm m? 1.12x10.0 11.200
LI E M E R
B #h#f t=10mm m? 0.048




X B[R T

E = B -tk B E 1 £
RE#RT
Z1ER
B Eh I X E#R =R 8 -W=45cm m REHIHEELY
BE S
E48-H-W=45cm m "
SHAETER
RA KX EER E#E -8 -W=15cm m 83.9
T XFHEMSETFTE)
W=15cmit & m RERIGTEELY




RE#H LT iE K A OE
i {a = {al
v B E R | W@ fiL B E R @
AR
NO.15 +8.4 ~ NO.15 +12.5 4.1 NO. 14 ~ NO.15 +12.5| 32.5
EhRERRETER 47.3 m
A& 51.4 m HE 32.5 m
EHE 83.9 m




I8 B y3 I - D ~ B #n = b5 E:3
ERMAEYMT

TY=—I—4 Di-thEEA 7N 80 | BERMNEHEEZTIHEEZLY

D3 [ EE MR 1 X 0.0

R/—H—LEATY=I—4 D4-tHEEA X 20
FEER T

1EREERT [E5l3i1 0.0

25T [E5l3i1 0.0

IEMEET [E5l3i1 0.0




18 B y3 I - D ~ B = b5 E:3
BEYRIELT
H—FL—L#kE m 8.0
W) -MEEEEL avy)—b-Ess m° 8.0
AEEEL m° 2.3
FRAI7 )L
S AR YT BR t=15cmBLF m 194 | HEEYEEIHEELY
SRR ERIEL FAI7 LS -t=3cm m? 0.0
FAI7 )L - t=5cm m? 53.7
EfANIET
PR E AL IR avy)—h-Ef m° 80| =S5 :80x2.35-18.8t
A% m’ 23| BEHS.23x260=6t
0% 0.03+53.7 X 0.05
FRAI7ILE m° 27| BEEE:27x2356.3t




sﬂ: \ﬂ: ale = E
BEYPRETL #EYERELTI M = 5t & &
s myEse | 18 E | 220)—MESYMEURLRR) g 1E BERUERL W =
BB B A 1.2 \Y BB B A 1.2 \Y;

NO.13 +10.600 0.00 0.0 0.62 0.620 0.0 0.0 0.00 0.000 0.0
NO.14 9.40 9.4 0.41 0.515 48 9.4 0.00 0.000 0.0
NO.14 +10.000] 10.00 10.0 0.18 0.295 3.0 10.0 0.17 0.085 0.9
NO.15 10.00 10.0 0.00 0.000 0.0 6.3 0.17 0.170 1.1
IKE .4-1

NO.15 +5.552 5.55 5.6 0.00 0.000 0.0 5.6
|kE.4-2

NO.15 +8.338 2.79 28 0.00 0.000 0.0 28 0.00 0.000 0.0

0.49

NO.15 +12.500 4.16 42 0.07 0.035 0.1 0.7 0.49 0.490 0.3
NO.16

NO.16 +10.000

NO.17
|IEP

NO.17 +12.636

= L& 0.1

INET 8.0 2.3
&5t 8.0 2.3




sk e ¥ = =
BEYHETL BEYRIELT #% 2 it & £
B A B R & IE FHERREVIE L (t=3cm) & IE HENREVIE L (t=5cm) W oE
iSRS w 1/2 A isi w 1/2 A

NO.13 +10.600 0.00 0.0 0.0 0.4 0.350 0.0

NO.14 9.40 94 9.4 4.9 2.640 24.8

NO.14 +10.000 10.00 10.0 10.0 0.6 2.765 27.7

NO.15 10.00 10.0 10.0 0.0 0.000 0.0
IKE.4-1

NO.15 +5.552 5.55 5.6 5.6 0.0 0.000 0.0
IKE.4-2

NO.15 +8.338 2.79 2.8 2.8 0.0 0.000 0.0

NO.15 +12.500 4.16 4.2 4.2 0.6 0.280 1.2

NO.16

NO.16 +10.000

NO.17
|IEP

NO.17 +12.636

INEE 0.0 53.7

=k 0.0 53.7




I;EB200ERiE # = F H =
150 200 150
100 50 50, 100
S
o
K
<
N N\E
[=) —
FyvEVY avy)— FRiE
£ E) p3 B - - X (v g = 10muBYHE| IE ® =
avg)—rEE % i m® | (0.15%0.10-0.05 X 0.02) X 2 X 10.0 0.280 40 0.1




